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fI=E1 (15 =)

&lm 15

(1) FILE *

(2) argc==2 or argc>=2

(3) filename,argv[1]

(4) filename,"r"

(5) NULL

(6) EOF or -1

(7) str or &str[0]THH]

(8) wordlist[i],str NEZF I CHA]

(9) i==wn

(10) strcpy(wordlist[wn],str) or strcpy(wordlist[i],str) THHA]
(11) wn

(12) i

(13) buf[i]!="¥@"' or LAT DOEIER7D 1E*(buf+i) & LTH R\
(14) buf[i]>='a' && buf[i]<="z' IELWVEFETHNITRW
(15) buf[i]=="." || buf[i]==","

fIRE2 (20 =)

£2m Ft20

(1) 13
(2) 15
(3)
(4)
(5)
(6)
(7)
(8)
(9) tanabe
(10) 12
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&2/ Ft2UR

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)

input(rect)

i=09;1i<n;

CalcArea(rect[i])

maxarea < rect[i].area

i

rect[i].area

rect[i].pl.x, rect[i].pl.y, rect[i].p2.x, rect[i].p2.y, rect[i].area

maxi

rect[maxi].pl.x, rect[maxi].pl.y, rect[maxi].p2.x, rect[maxi].p2.y, rect[maxi].area
(rect[maxi].area % maxarea T H])

(10) fabs(rect.pl.x - rect.p2.x)
(11) fabs(rect.pl.y - rect.p2.y)
(12) &rect[i].pl.x, &rect[i].pl.y, &rect[i].p2.x, &rect[i].p2.y
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(7)
(1)
(V)
(=)
(1)
(77)
(%)

(7)

#endif

#include "baseN-head.h" <> THT D IFAT]
(rem[i-1-j] + '@") sy afELTH L, 'e'T48 b A]
c[i] = 'vo' iThjCHAL

gcc -DDEBUG baseN-main.c
(2 1#%1) 00000000
gcc -c baseN-main.c
gcc -c baseN-func.c
gcc baseN-main.o baseN-func.o

gcc baseN-main.c baseN-func.c -DBASE=8 =D FE D THEE
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MEEL-1: &£1= F10=

struct arrl

void

int (*)[ROW]

a

X

arr3

b.arr

arr2

(*b) [ROW] or b[]J[ROW] T®H]
10 b
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MRE5-2: &2 = F10=

char *

*str == '¥0'
return

str + 1

*str
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MEE6-1: &1m 4=

vi p W N R

(1) B
(2) B
(3) B
(4) A

MR 6-2: &£2m F8=

(5) NodePointer
(6) keydata

(7) head->next
(8) head->next

MR 6-3: &£2m F8=

(9) n = head

(10) n->next != NULL
(11) n = n->next
(12) n->next->key



